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By 3% AFI074£04 501 H eI Dt e/ 91 h (Biir)
i 4 JE = Wae | %K F i fiE T fE g2y ]
xR & )l 10. 00 [ #H%f 250 2, 500 1,512 1, 382 1,188
IENE w5 10. 00 | #H%F 718 7,180 3,564 3,224 1,296
B X £ I 15. 00| AHxf 467 7,005| 2,700 1,443 1,080
X D O 12. 00 | #H%f 398 4,776 1,728 1,109 842
ESF AWII--N o JE 0. 20 | FHxf 800 160 86 75 65
B | ao0o|xt| 85| 020 1,512] 1,159 864
H & SR 3. 00| FHxf 324 972| 1,836| 1,461 972
H A el 1. 00 | #H%f 215 215 540 462 216
ENIE .00 4| ol 50| 3,240 2,700| 2,160
AN w5 2. 00 | FH %} 144 288 972 897 648
= w5 4. 00| FH%f 335 1,340| 1,512| 1,303| 1,080
EN R aoo| kakt| 46| 184 1,836 1,531| 1,188
[N 5 5. 00| FHxf 462 2,310 1,674 1,398 1,080
~7 b= b M 3. 00 [ FHx%} 125 375 1,728| 1,612 1,404
SR gL 2. 00 [ FHx} 36 721 2,700 2,238 1,296
H ik w5 5. 00| FH%f 90 450 1,728| 1,704| 1,620
£ A It JE 10. 00 [ #H%f 448 4,480 2,376 2,154 864
LA A O 10. 00 | #H%f 613 6,130 2,160| 1,581 972
==l F X & 4. 00| fHxf 880 3,520 1,512 705 108
Tuyal— (r— 6. 00 | FH%f 293 1,758| 2,808 1, 620
ENIN .00l fxt| 8] 8| 1,944

+Lxon =St 4. 00| FHxf 3 12 5, 400
AEHEE w5 0. 10| #xf | 2,200 220 173 113 65
ZDXH E % 0. 20 | FHx} 1, 800 360 70 65 59

LU E B 0. 20| FH%f 150 30 86
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Rz AFI07T4£04 H 01 H EFER S 18 ~ (Biir)
i 4 JE = Wae | %K F e T fE g2y ]
5 U H & 10. 00| FA % 188 1,880| 5,724| 4,849| 3,240
SR H AR 10. 00 | AH%F 19 190 4, 644
Foia— e K 4. 00 | FHxF 50 200 4,320 4,147| 4,104
Avara 7 4 U ¥ | 13.00] fHxf 24 312 3,024 2,997 2,862
HEBR D & [ 0. 27 | ¥H%} 1,750 470 410 345 270
S X EF I 0. 25| A%} 5, 967 1, 497 410 271 162
RIHD Y S ) 0. 25| FH%F 1,461 368 378 303 130




